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14. It can be inferred that the purpose of the

second paragraph is to

(a) Urge the two countries to resolve their
disputes and work towards a solution.

(b) Urge the two countries to resolve their
border issues with an eye towards the
future. '

(c) Urge the two countries to move beyond
the border issues and learn from the past.

(d) Urge the two countries to reach a clear
and equivocal solution to their problems.

-

15.

According to the passage, why should India

be in favor of an independent Tibet?

(a) The existence of a Tibetan government-
in-exile on Indian soil complicates the
relationship with China.

(b) The presence of Tibetans and their
government-in-exile is a reason for China
to view India with suspicion.

(c) Anindependent Tibet would be ideal as a
defense against China. :

(d) India has not given the requisite support
to the Tibetans, /aip,opulation persecuted

by the Chinese. -
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